
f^nstttul'Q" ofPartnemfiip-Chanjiein.... gxislint. Parinert 
S9 

3 

RECOSSTTTVTION OF PARTNERSHIP- 

CHANGE IN PROFIT-SHARING RATIO 
AMONG THE EXISTING PARTNERS 

A, D ^ partijer, abariog profit, in equal proportioua They 
w.dc W 0f5 M:3:2i0 f^ure Vouar. 

CBlcuIate socnfiems rah o, aid the gamjng ratios for the partners. • 
Solo't'-"1 i , , , 
, old Rat'0 ^ o111'D = i: i; i; i. 

4 4 4 4 
5 ,n) New Ratio of A. B, C and D - -1 - i.. i., {n 14 14 14 

cicrifico or Cain (A - B) 
A =i. —1 -Zzi£ 

_2 
14 

3 

VERV SUORT/SHORT answer type questions 
S«criCcja« and Gaining Ratio v 

'""'csTdD share profits and Josses in the ratio of 2: 1. With efTert from 1st I ^ 
April, 2917, theyapred to share profits cquflliy. Calculate the sacnfictng ratij | 
and gaining ratio, a 
Solution ^ 

Calculation of Sacrifice or Gain 
Old Ratio of C and D = 2 : 1 

New Ratio of C and D = 3 ; I 
Sacrifice = Old Share — New Share ■ 

Sacrifice or Gain 
CJ-A-.L 

3 3 6 C 
1 1 2-3 

Problc 

4 14 
bA-±A 

4 14 
0=1-— 

4 14 
D-1-—. 

4 14 

28 HS(Caill) 

^(Gain) 
7 6 1 
—-(Sacrifice) 
7-4 3 ... . —--(Sacnfice) 

'3 = - (Sacrifice) 

D- 
3 2 

Gain 

Thtis^C has sacrificed -th share and D has gained 1th share. 

I,roblef^2/ 
K, SWd T are partners sharing profits in the ratio of 6; 3 ; 2. They agree 

to share profits in equal proportion ui,e.f. April 1, 2017. You are required to 
detennine sacrificing ratio and the gaining ratio for R, S and T. 
Solution 

i it3 C are part ners sharing profits in the ratio of 6:3; 3. Calculate 
lie new profit-sharing ratio and the sacrificing ratio in each of the following 
BSCS-' . • . 
(Case /: If C acquires I/6th share from A. 

Case // : If C acquirea l/5th share equally from A and B, 
Solution 

Case I r 

1 R 1 S 
i unners 

1 T (A) Old Share 1 ' A 3 1 2 

(B) New Share 
10 1 i 

1 10 
1 To 

. i a 3 
(C) Difference (A - Bl 

| 

G 1 
20 3 

6 
"30 

1 1 
10 ~3 

3 
_2_ I 
10 3 

•KB) ■- Sacrifice 

(A) Old Ratio 

(B) Share received by C from A 

A 
_5_ 
10 

lor— 
5 10 

B 
3_ 

10 

c 
_2_ 
10 

1 2 + - or— 
5 10 

(C) New Ratio 

jVwr : Tlii lam of gslmng ratio ibflll S-wnrj be to the in,,, . 
long rati, 

A A 
- 10 io 
(A-B) 

New Profits-sharing Ratio = 

Share Sacrificed by A = 1/5, C's CaJa 1/5. 
Case II; 

A B 
MIOWtMo . ' ^ i 

'B) Share reed, bv C from A and B 
1 - - 

- ^ 10 '* 
(A + B) 

/ 

equally (or 1x1) 
5 2 "io 10 

c 
_2_ ' 
10 

1 '2 + -or — 
B 10 

f 'C) New Ratio 10 
(A- B). 

10 
(A-B) 

_4_ 
10 

(A + B) 
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• 2 : 4 or 2 i 1 ; 2 4 2 
New Profit-sharing Ratio = —- : — : — or 4 

10 
Share Sacrificed by A = by B = — 

  Sacrificing Ratio = = 1:1- 
10 10 

Problen/S ) 
X, Y afia Z are partners in a firm in the ratio of 2 ; 3 : 5. On 31st Marcf^1' 

2017 the following proposals are under consideration. You are required tofijjj 
out change in the ratio of each partner: ' ' . ' 

(i) New ratio will be 2 : 5 :3, (ii) Z will give 10% of his share to X. : 
Solution 

Case I 

^jtitation orPcrtnen-hi^r^ 
"fie ia 

,hlltioo of the balance in the Profit & . 
change m the profit-sharing ratiT ai^; ^ change 

■W1" 
■f 

S^VPartn^ 

m ^"wdReservi 

Journal En trie 
Dr. Cr. Paniculan 

UF. 
Dr. 24,000 

IS.000 

4 
A: Y ■ Z 

(A) Old Ratio ' 2 
10. 

3 
10 

5 
10 

(B) Less : New Ratio 2 
10 

5 
To 

3 
10 

Difference or Net Effect (A - B) - ■ 2 
10 'j 

No Change Cain Sacrifice 
2 2. ' i Thus, Y has gained —til and Z has sacrified —th share. In case of X, No 

Change. 
Case II; 

10 

A" 
g's Capital A/c 

To Profit & Loss A/c 
(Being undittributed lose tramfcrrtd to PartonV 

ranital Ats in their old ratio it 3 ; tl 
General Reserve A/c 

To A's Capital A/c 
To B's Capital A/c 

Dr. 

(Being transfer of general reserve to P.ir'ncri Capital 
A/'m in the old ratio i.e. 3 :2) , 

10/KM 

40,000 

6,000 
4^)00 

(A) Old Share 

(B) Z gives 10% of bis 
share to X 

(C) New Share 

New Ratio = — ; 
20 — : — or 6 

20 20 

X 
2 

Y 
3 

Z 
_5_ 

10 . 10 10 

4'-i 
20   (-) 5 10 

10 * 100 
1 

"" 20 

_5_ 
20 

■ 3 6 — or— 
10 20 

, 9 
20 

6 ; 9 i 

problem 7 
^ Dhoni and Pathan are partners in a firm sharing profits in the ratio of 

5 • 3. They decided to change their profit-sharing ratio to 3 : 5. On the date of 
'change in the profit-sharing ratio. Profit & Loss Account showed a credit 
■halance off 50,000 and General Reserve off 24,000. Record necessary Journal 
entry for the distribution of the balance in the Profit & Loss Account and 
General, Reserve before the change in the profit-sharing ratio. , . 
Solution 

{ . . ' Journal Entries Pa 

Tlius, X has gained 

no change. 
op Z kas sacrificed — share. In case of Y, there is 

Accoiuitlng for Distribution of Accumulated Profitg nnd Reserves 
Problem 6 

, .,AJD* B, are P^L"erB nnn sharinS Profits in the ratio of 3 : 2, They deciaed to share profits and losses eouaKy On the dafp of rKo 
nrofit-sharine ratio. Profit A a—""j . ?ate D} chanfie in the profit-sharing ratio. Profit & Loss Account showed g debit balance oft 40,000 ' 
and a Genera, Reserve of f 10,000, Record the nec^7o3 en^ S 

Particulars 
Profit & Loss A/c 

To Dhoni's Capital A/c 
To Pathan's Capital A/c 

(Being undistributed prolit trflasferred to Psrtacrs 
Capital A/cs in the old ratio, ® : 3' 

Dr. 

General Reserve A/c 
To Dhoni's Capital A/c 
To Pathan's Capital A/c t 

(being transfer of genera] reserve to Partne1' 
A'cs in old ratio i.e. 5:3' 

Dr. 

Capital 

L.F. 
60,000 

31^50 
18,750 

24,000 
15,000 
9.000 

S'l0 fhe General Reserve Account 
nrofits in 6 : 2 : 3 ratitx. 

84lan' Y1163 z ore partners in a"fiO.OOOin General 
? Sheel at 31.3.2017 showed a ^ the necessary Jccrat. 

i ^.2017 they will shore P^^whTx. Y and Z dedded « 
ciqj'~ Sivc effect to the above arrange 

13 General Reserve Account. 
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Calculation of Sflcnfice or the Gain Share of Partners • ' v 

Sacrificing Share = Old Share - New Share . 
x=J.J=HzH= A Sacrifice V t 

10 3 30 30 

"I = H(^] Gain' beine res^ 

z =Yo ~l =£ir = ("(^) Gain' beinS reauH 

Thus, sacrificing partner's share of General Reserve to be compensated^ 
Gaining partners in their Gaining Ratio U., 4 ; 1. Share in General Res^ 
sacrificed by X= Ax 60,000 = 110,000 to be compensated by Y and Z in 4. j 

Le., ? 3,000 and 12,000. : . 
Journal Entry Qr . Qr 

■^Sein „ 

63 

DaJe 
2017 

April 1 

Particulars 

Ts Capital A/c 
Z-s Capital A/c 

To Xs Capita] A/c 
(Being proportionate share of General Reserve 

Bdjusted between existing partaere) 

Dr. 
Dr. 

L.F. 

8,000 
2,000 

10,000 

Not to Close Profit and Loss Account , 
Problen/V) 

. ■ Vaibhav are partners sharing profits in the ratio of 2:1. They 
SI ^ shar^. ^ture profits equally. On the date of change in the 
7 24 Ootr^r Proflt

r
£md ^ss Account showed a credit balance.of 

L the Si 1 nfeSSary
L

Jo.Urnal cntry for the distribution of the balance in the Profit & Loss Account before the change in the profit-sharing ratio if 
they decided not to close the Profit £ Loss Account. 
Solution 

Calculation of the Sacrifice or the Gain Share of Partners 
Sacrificing Share = Old Share - New Share 

Abhay =AA =1 (Sacrifice! 

Vaibhav - - - - ~ '"'[g] ^ain' be'ne negative result. ■ 

Thus, gaining partner's share of profit to be adjusted = ? 24 000 x1 t 

6 . = 7 4,000 

Dale 
-visual i.nirv 

Particulars L.F, 
Dr. 

7 
Cr. 

Vaibhavs Capital A/c ^ 
To Abhay's Capital A/c 4,000 

4,000 0fpr0f,t 

Mayank are _ 
^hcy decided to share future .la a fira eW 

3: fit Sharif "Jj0' the Profit & ratio6f 
Ac- Rc«rd the necessary Jour71aj5s ^unt l " the 
(£! j Prof'1 & L059 Account before theri. ^thedislrhni i «f 

riufi011 
5 raleulation of the Sacrifice or fbo r . 
f s.^dng Share %OI',1

Sh.are - N». sC S'W"' 
I 

Mayank =| -A =izi = /.f 11 , 
f 5 2 10 Gam, being negative result, 
I Thus, gaining partner's share of undistributed W, i x , 

" SeO.OOOxA. ? 6,000 ted 1033 10 be adjusted 

5 "f Partners 

% 
ParticuJars i.F. 

Dr. 
7 

Cr. 
? 

! 

V c 

Mayank's Capital A/c ^ 
To Mrinal's Capital A/c ' ■6,000 

6,COO (Being proportionate share of loss adjusted between 
exia ting partners) 

 «iuu ucuenu neserve Account 
(Problef^Uy 
t A and B are partners sharing profits in the ratio of 3; 1. Their Balance 

Sheet showed a balance of7 20,000 in General Reserve Account and 7 30,000 la 
Profit & Loss Account. They now agree to share the future profits equally. 

' Instead of closing the General Reserve Account and Profit & Loss Account it is 
, decided to pass an adjustment entry for the same. You are required to record 

tie necessary adjustment entry to give effect to the above arraagemeat. 
' Solution 

Calculation of the Gain or Sacrifice of the Partners 
Sacrificing Share — Old Share - New Share 

A =?Ll=-=i (Sacrifice) 
4 2 8 8 4 

B: -i 
1 ^ 2- 4 - (_\fTj = (-)f'ilGain, being negative result. 

4 2 8 - • 
Adjustment of General Reserve and Profit & Loss A/c 

<a) General Reserve ; 7 20l000x^ - S-000 

ft) Profit & Loss A/c : 7 30,000 A = 7,50° 

Total (a +, W = ; 

1 -* 
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Journal Entry Cr 

Particulars LF. 7' • 

B's Capita! A/c Dr- 
To A's Capita) A/c 

(Being proportionate share of Genen., Reserve and 
Profit & Loss Aft edjusted between existing 

12,500 

Problem 12 • i n j •, 
A, B and C shared profits and losses equally. Thev mutuaJly decided^ 

change their profit-sharing ratio to 5 : 3 : 2 respectively. On the date of t{J 
change in the ratio, they had the following undistributed profits which needtj- 
be adjusted because of the change in their ratio : ' • ? J 

(i) General Reserve • 48,OOq1 
Jlri (ii) Contingency Reserve ^>,005! 
^ " (ui) Profit & Loss Account (Credit Balance) 

(iv) Joint Life Policy Reserve " _ ■ J.SO.OOj 
" Give one entry for all reserves to make the necessary adjustments. / 
Solution 

* L Calculation of Gain/Sacrifice Share of Partners 
Sacrifice - Old Share - New Share > V 

= {-) | —1 Gain, being negative result"! A-i S 10-15 
3 "10 30 

3 10-9 
3 ~10 30 ; 

C =- 2 10-6 
3 10 30 

— (Sacrifice) 
30 
4 

— (Sacrifice) 
30 

2. Calculation of Total Undistributed Profits 
(i) General Reserve 
(ii) Contingency Reserve 
(iii) Profit & Loss Account 
(iv) Joint life Policy Reserve Account 

3. Proportionate Share of Gaining Partner ; 
5 

A = 4,26,000 x — = r 71,000 
30 

Proportionate Share of Sacrificing Partners : 
B = 4,26,000 x — = ? 14,200 

30 
0 = 4,26.000 xi-= T 56,800 

Journal Entry 

: st.p 
7'. 

48,000 
96,000 

1,32,000 
1.50,000' 

Total 4,26,000 

Date Particulars 
A'b Capital A/c Dr. 

To B's Capita] A/c 
To C's Capital A/c 

(Being adjustment for all reserves) 

71,000 
14,200 
66.800' 

ftsconstitutwn of Partnership 
—P^Chanee in . 

^'wsh»'er''l"reProC'StaX'n'l""i»»<™il.rf5.5 _ 
i td the effect of the following nJh rati0 of2:3 • 5 -n, °f,' 3'-2-^<!y 
g; wok ..to b, passing a -^5^ 

Book Value 
7 

70,000 
20,000 

goiiition 36,000 
f Step 1 : Calculation of Net Effect of Profit, Reserve 

■ profit & Loss A/e (Credit) 
Add : General Reserve 

.' '* profit & Loss A/c—Credit 
General Reserve 

. • advertisement Suspense AJc 

Less ; Advertisement Suspense A/c 

Step 2 : Calculation of Sacrifice/Gain 
Old Share New Share 

and Losses 
7 

. 70.000 
, 20,000 

90,000 
36,000 
54,000 

X's Share 

Vs Share 

71s Share 

(A) 
_5_ 
10 
_3_ 
10 - 
2_ 

10 

(B) 
_2 
10 
_3_ 

-10 
_5 
10 

Sacrifice/Gain 
(A-B) 

v JU iU . 4U . 1U 
Here X sacrifices and Z gains. Hence X will be compensated by Z for net 

gain. 
■ '3 ' Step 3 : X will be compensated with 7 54,000 x —- 7 16,200 

' Step 4 : , 
Adjustment Entry - Dr. Cr. 

■ Dote Particulars LF. 7 ' 7 

* 

71s Capital A/c Dr. 
To X's Capital A/c 

(Being the adjustment made for net profit, reserve 
and loss) 

16,200 
16^00 

^yjusiment for Revaluation or Assets ano utauums,* 
iProblem 14 « re . 4 . 9 

Shankar, Babita and Vishal are partners in a fi™ ^ ® ™ 0® ^ 
.9n.lst April, 2017 they decided to share profits m the ra'oof ^ ^ 

general reserve was 7 34,900 and loss on rev^^0° ade 
^l!iti«3 was 7 5,200. It was decided that adjustment sh e 
^"og the figures of assets and liabiht.es m the Balanw 

1 Justmeat by a single Journal entry. 
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So'^ajculaHo" 05 oW "sbare^Ne^ Share 
cgcrifidnff share '5 . i =¥Lr ~ =— (Samfice) 

Sh«nk«r=j]'9 99 W 
4 3 36 -33 _— (Sacrifice) QQ 

; 
' I, 

^ ^ _ „.,,—r Babita =jj "9 " 99 99 
2 2 18^22 =(_)f JL j Gain being negative red. 

Visha3=—9 99 1,99 j ^ 

f«) M Gaining F^nars' Share of Prefit (for Adjustment): ■$ ( General Reserve 34^' 
less : l#55 on Revaluation w 

Hence ? 29.700X A =. t 1.200 

(b) Shantor's Sacrifice = ?29,700x^= T 300 
3 

(c) Babita's Sacrifice = ' 20,700 x— = t 500 

(iii) ■ Journal Entry 
Date Particulars LF. 7 

Vishal's Capital A/c 
To Shankar's Capital A/c 
To Balita's Capital A/c 

(Baiognet share of profit adjusted) 

Dr. 1,200 

4 
, ■ 9001 

JL&J 
Net Effect 2^ 

" ^ 
4 " 

■$ 

-W' Dr. 

ProbIen/15/ .? 
C ann-o who share profits equally decided to share future profits in th( 

ratio of 3; 2. For thispurpose assets and liabilities were revalued asunder:-.' 
(i) Building will increase by 7 40,000. 
(ii) Furniture and creditors will decrease by 7 4,000 and 7 2,000 respec- 

. tdvely. « 
(iii) Unrecorded liability is to be reoo.-ded now at 7 .6,000. ;' 
(iv) The balance of general reserve was 7 40,000 and Profit and Loss 

Account showed a debit balance of 7 20,000. 
Pass the necessary Journal entries to record the above. 

Solution . 

Date Particulars ' LF, 7 7 Building A/c v 0J. 
Creditors A/c pr 

T0 Revaluation A/c 
(Being increase in Ihe vake of building and decrease 

In the amount of cmlitort) 

40,000 
2,000 

c 

42,000 
. f 

Revaluation A/c 
To Furniture A/c fm 

To Unrecorded Liability 
(Being dccreaue in Uw value of fumitura. »nA ing of unrecorded liability) ^ record- 

10,000 
4,00" 

■ G,0M. 
' ■■ '•:) 

p^onstitu^0110f Partnership— 

' (^.valuation A/c 
To C's Capital Ate 
To D's Capital A/c 

—^ ifl Exitline Partners 67 
Or, 

/Being transfer of profit on || ^ !>« r»t») General Reserve A/c 
Dr. To C's Capital A/c 

To D s Capital A/c 
/Being distributicn of General We.,. h    
C's Capital A/c Dr. D's Capital A/c Dr. 

To Profit & Loss A/c 
/Reing.distribution of low in olj ratio) 

16 ble 

32.000 

40,000 

10,000 
10,000 

16,000 
16.000 

20,000 
20.000 

20,000 

^ The Allowing is the Balance Sheet of S and T on 3!st March, 2017. They 
, cgre profits and losses in the ratio of 3; 1. They decided that in future they 
^l-we profits equaliy: 

Liabilities 

Creditors 
,Bills Payable 
Profit Ss Loss A/c 
General Reserve 
Capital A/cs : 

S 
T 

7 
1,00,000 

84.000 

Amount Assfts Amount 
7 7 

1,00,000 Business Premises 1.00,000 
10,000 Fumitore 4.000 
40,000 Stock 80,000 
16,000 Book Debts 64,000 

Bills Receivable 12,000 
Cash at Bank 60,000 

1,84,000 Cash in band 10,000 
3.50,000 3,50,000 

that : ■ On the date of change in profit-shariag ratio, they decided 
(i) The value of business premises be appreciated by 20**. 
(ii) Stock and furniture be reduced by lOa each. 
(iii) A reserve of 5% be created for doubtful debts on book debts. 
Prepare the Revaluation Account. 

Solution Cr. 
Dr. R 

Particulars 
To Stock A/c 
To Furniture A/c 
To Reserve for D. Debts A/c 

evaluatir 
7 
8,000 

400 
3,200 

Pnrrtcutors 
By Business Premises A/c 

7 
20,000 

To Profit transferred to 
Capital A/cs : ^ 
S 6,300 
T 2.100 8,400 20.000 

~ 20,000 

aen Rey^u v u.uto 
^rohle^ij/ 
r Shufela and Saxena < : S n 1  n  m. 

are not to   
• n™. sharing profits in the ratio of 

are partners ma b, 2017 is as follows : 
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6S SBPDPiMj^!!^ Assets 
iJabilitifi Land 

Building 
Plant , 
Investments 

Capital A/cs: 1.80.000 
I 20.000 

ShuUa 3.00.000 
1,20.000 Saawia 

Creditor J .20,000 

^0^'; 
1'Oo.000 1 

I.OO.OOQ-. 
I'QQjifiQ 1 

■ 

 , nf A^ct?: Land ' 3,00,000 and Building ? 90,000. Revalua aon —^ the partncrs decided to share profits equally wj.iV 

^ aTril i *''017. You are required to record the necessary Joum-J' 
Bc.-d..Uo. Account. 17 "* effect ^•X'^-Rc^ualion 

Journal Entries 

50,0 
10,0 

40, 
Dr. Cr. 

Pnrtiroiars LF. ■? . * ^ 
LandA/t Dr. 

To Revaluation A/c 
(TVinp appredation in the value of land) 

1,80,000 'x. W 
' 1.80,009 , 

" i. 
Revaluation A/c Dr. 10,000 ,t;f| ' 

To Building A/c 
(Deicj dwiease in the value of building) 

10,006" 
•• \, 

Revaluatioa Ac , ' Dr. 
Te Shukla's Capital A/c • , 
To Saiena's Capital A/c ■* 

(Being transfer of profit on revaluation in old ratio) 1 

1,70,000 ' 
68,000 .V 

' 1,02,006''' 

Reconstitution or P,.~. 

golution ' part 
I Calculation of Net E  ^ 

Increase in Value nf, Ct of Revaln««, 
AM : Dccrcct t"" 4 Buai"0" 

■ Less ; Decrease in ti1B 1
0unt 0f Credit 

2, Calculation „( : "el 
. ,a ■ Sacrifice a 

.! • Munda = ^ 2__ 3 w 

. ' 10 10 ~ i0^acrifice) 
Maiyhi= ^ L 0 . 

10 io-HNl1 

Murmu=   5 _ 3 
• , ' • 10 10 Tn (Gail1) 

'»'• ' V 3- Calculation of Pr0portlon of N 
.tir Munda = 40 000 x 3 ,,0 0,1 RevaIoa«aa 

B= n2'000 (Credit) 

Munnu = 40,000x^= T 12.000 (Debit, 

Journal Entry 

Dr. Revaluation Account 
. ''.Date 

Cr:- 
Particulars Particulars ? • -4 

To Bujlding A/c 
To Profit transferred to 

Capital A/cs : 7 

10,000 By Land A/c 1,80,000 Y. - 1'' • , 
' tL 

Shukla 68,000 . .. " 1 

Saxena 1.02,000 1,70,000 .."ft 
1.80.000 1,80,000 . 

2017 
' April 1 

ProWerrf 18 
Mundarftlanjhj and Murmu are partners sharing profits and losses in the 'i 

ratio of 5 : 3 : 2. They decide to share future profits and losses in the ratio of '.- 
2 : 3 ; 5 with effect from 1st Apnl, 2017. They decide to record the effect of the" 
foHowmg revaluations without effecting the book value of the assets and 
liabilities by passing a single Journal entry : 

Pariic ulars 

Plant & Machinery 
Land Sl Building 
Investments 
Sundry Creditors 

Book Value 
? 

3,00,000 
2,00.000 

50,000 
60,000 

Reuiscd Value 

Required : Pass the necessary single adjusting entry. 

2,90,000 
2,50,000 

40,000 
50,000 

Particulars 
Dr. 

LF. 

Murmu's Capital A/c ' ' ^ 
To Munda's Capital A/c 

{Being proportionate share of proCt oa revatuatinn 
adjusted between existing partners) 

12,000 

\ 
Accounting-Treatment of Goodwill 
Probleii/l9y 

A ciriu B are partners in a firm sharing profits in the ratio of 3; 2. With effect 
from ist January, 2017 they agreed to share profits equally. For this purpose 
the goodwill of the firm was valued at 130,000. Pass the Journal entry for the 
treatment of goodwill. 
Solution 

Calculation of Sacrifice or Gain Share of the Partners) 
Sacrifice Share = Old Share - New Share, 

Gain = New Share - Old Share 
Old Share of A and B = 3 : 2 

} . New Share of A and B = 1^11 ^ 
A =3_i=3^=i-(Sacrifice): _ 

5 2 10 ofgoodwill to be adjusted r30,000x- 

= fil (Gain) 
Iw . • 

■ Thus the gaining partners share i 

= t 3,000 
■r 
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70 
L.F. 

Dr, 3,000 

CV 

3.000 B's Capfal 
To A's Cr^-U Miu^ l-t-n 

(B«iB? Prt,Fl0rtI^-)    
'    

! .nnT. sharing profits in the roitio of 3 :4. Goodwill 
Shj-tanare \s ,vorth t 42,000. The partners decide t, 

share profits ^to record the above change. 

Problem/stV 
Bam ana 

Give JourcaJ entry 

Ram =^-7 ; 

' sb,™-ff-1r4(S,,crin") 

Goodnill = 7 42.000 
.. Ram's Gain = 42,000xy=?6,000 (to be debited) 

Sbyam's Sacrifice = 42,000xi =? 6,000 (to be credited) 
Journal Entry Dr. 

'V- 

. %. 
- "%* 

fty 

Cr. 0 

Rarticidurs LF. ? 7 ^ 

Ram's Capital A/c ®r' 
To Shyam's Capital A/c 

(Being adjustment made for goodwill due to change in 
Drofit-sharing ratio)  

6,000 
6,000 

a 

Pr0 j'^ftoVcupta arc partners in a firm sharing profits in the ratio of 2:3, 
Their Balance Sheet as on 31.3.2017 was as follows :   

Liabilities 7 Assets 7 ' 

? Land 60,000 

Jain's Capital 
Gupta's Capital 
Creditors 

90,000 
60.000 1,50,000 

Building 
Plant 

50,000 
95,000 

40,000 Profit & Loss A/c '5,000 
General Reserve £0,000 

2,10,000 2.10.000 

The Goodwill of the firm has been valued at f 75,000; Land ? 1,50,000 and 
Building T 45,000. On Slet March, 2017 the partners decided to share profit 
equally with effect from April 1, 2017. 

Required : 
(i) Pass the necessary Journal entries without opening Revaluation1 

Account. 
(ii) Prepare the Capital Accounts of the partners. ' " 
(iii) Prepare the Balance Sheet of the reconstituted firm. 

golution 
,r king^0"' ' 
' (l> CnlculnHon of the Gain or Sanffi,. r. 
„. " Satrifice = Old Share -New ShaT P'tien : 

71 

_ , ctnar? Gam = New Share-Old Shart 
Jain =1^ 

2 5 10 iotGam) 

Gupta = 
5 2 io — (Sacrifice) " - iV IU 

• (2, Net EfTect of Revaluation of Asseta and UaMIitiej • 
Increase m the value of Land (r 1,50,000 - 60000) 

Uss : Decrease in the value of Building fr 50 000 - 45 000) 
Net Profit on Revaluation 
Adjustooent for Goodwill 

Total Profit 
Proportionate Share of Gaining Partner - 1.60.000 x i vf 16 000 

■ '10 

I 
90,000 
5.000 

gj.OOQ 
75,000 

1,60,000 

(i) Journal Entry Dr. Cr. 
Dale Pgrhcu/ara 

Jain's Capital A/c Dr. 
To Gupta's Capital A/c 

(Being share of profit en revaluation and pxidwill 
trauoferred to aaorificing Partner'o Capital /vc in 
his aaerifiring ratio)   

LF. r f 
16,000 

16,000 

Particulars 

ToJ'rofit & Loss 
.A/c (2 ; 3) 

To Gupta's 
Capital A/c 

To Balance c/d 

(ii) Capital Accounts Cr. 
Jain 

I 

2,000 

16,000 
80,000 
93.000 

Gupta 
I 

3,000 

85,000 

2017 
April 1 

85,000 

Date Parficu/ora 

By Balance b/d 
By Jain's 

Capital A/c 
By General 

Res. (2: 3) 

Join 
f 

90,000 

8,000 
98.000, 

Cupto 

60.000 

16,000 

12.000 
68.000 

(Hi) Ralancc Sheet of the Reeonstituted Firm 
Liabilities 

Jain's Capital 
Gupta's Capital 
Creditors 

7 
80,000 
85.000 

Assets 
Land 
Boil din; 
Plant 

60,000 
50,000 
95,000 

1,65,000 
40,000 

2,05,000 

Note;Genera) Reserve"and^ceaf^^ 

April 1, 2017. Their Balance Sheetvo ___ j—y 

  Liabilities 
Sundry Creditors 
General Reserve 
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Pnrtncrs' Loan ; ? 
Dinesh 40,000 
Ramesh 30,000 

Partners' Capitals ; 
Dinesh 1,00,000 
Ramesh 80,000 
Suresh 70.000 

70,000 

2,50,000 
5,50,000 

72 SBPD Publications Practical Problems in Financial Accounting (Xln' 

Sundry Debtors 
Stock 1,201) 
Fixed Assets 

6,50 O0c 
It was also decided that : 
1. The fixed assets should be valued at 7 3,31,000.' • ;; <'' 
2. A provision of 5% on sundry debtors be made for doubtful debts 5 
3. The value of stock be reduced to T 1,12,000. . ^ 
Pass the necessary Journal entries and prepare the revised Balance Sh<w' 

of the firm. , , 
Solution ,;! 

In the Books of Dinesh, Ramesh and Suresh .» • » ^ '.«s 

- Journal Entries T Dr. Cr.u'. 
Date 
2017 

April 1 

Revaluation A/c 
To Stock A/c 
To Provision for Doubtful Debts A/c 

(Being decrease in value of stock and creation of 
provision of doubtful debts) 

, Particulars 

Fixed Assets A/c 
To Revaluation A/c 

(Being increase in value of theftxed assets) 
Dr. 

Dr. 

L.F. 

Dr. Revaluation A/c 
To Dinesh's Capital A/c 
To Ramesh's Capital A/c 
To Suresh's Capital A/c , • 

(Being prolit on revaluation transfened to Partne'V 
Capita] A/cs in old profit-sharing ratio) 

General Reserve A/c 
To Dinesh's Capital A/c 
To Ramesh's Capital A/c 
To Suresh's Capita! A/c 

(Being general reserve traruferred to Partners' 
Capital A/cs in old profit-sharing ratio) 

Dr. 

Working Note: 
1. Caieutation of Gain or SacHfce of Partner 3 .■ 

/si/Mecv Dinah Ramcih (A) Old Share 
(B) New Share 
DiJTereace (A - B) 

51,000 

11,000 

40,000 

80,000 

51,000 

' 8,000 
3,000 
• ■ 'r. " >. 

15,000 
15,000 
10,000 

30,000, 
30,000) 
20,000 

Sui 
3/8 2/8 1/3 —w 1/24 (Sacrifice) 1/24 (Sacrifice) (-) 2/24 (Gain) Dr Revaluation Account 

Cr. Pariicular* Amount Particulars Amount 
To Stock "8,000 Bynscd Assets 

51.000 

I vuCV 

^jteconslilution 

^ profA transferred to; ? ^ ~ 
Dinesh's Capital A/c 15,000 
fjarnesh's Capita] A/c 15,000 
guresh's Capital A/c lo^oo 40 

To Balance 
' c/d 

Suresh 
1,45,000 1 1,00,000 

I 1/15.000 ' 

% Balance 
h/d 

8/ Revalu- 
ation A/c 

By General 
Reserve 
A/c ; 30,000 30,000 

iJS.OOO 1,25.000 
Balance 

■i f 

its 

r Liabilities 

Sundry Creditors 
Partners' Loan : 

Dinesh 
Ramesh 

Capitals : 
Dinesh 
Ramesh 
Suresh 

? 
40,000 
30.000 

1,45,000 
1,25,000 
l.OO.OOO 

Amount Assets 
? 

1,50,000 Cash at Bank 
t 

40,000 
Bills Receivable r 60,000 
Sundry Debtors 60,000 

70.000 Less : Piov. for DoubtMl 
Debts 3,000 57,000 

Stock 1,12,000 
Fixed Assets 3,31,000 

3,70,000 
5,90,000 5,90,000 

Miscellaneous and Boards' Questions 
Problenl23/ 

X, Y and Z are partners sharing profits and losses in the ratio 014 ; 3; 2. 
Goodwill does not appear in the books, but its worth is T 36,0o0, The partners 
decide to share future profits in equal proportion. Give a Journal entry to 
record the above change. Also indicate the individual partner's gain or loss due 
to change in ratio. Show your working notes clearly. {B.S.E.B., 2013} 
Solution 

Calculation of Gait- or Sacrifice 
Old Ratio ; X : Y : Z = 4 3 : 2 or 4/9 : 3/9 : 2/9 
New Ratio : X : Y ; -Z = 1 : 1 ; I :,r ^ Y 

3 1 
Sacrifice = Old Share - New Share --- b ' 

Z 
21 
9 3 
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SBPD PiMcaM/tsP™™^       

2-3 _ izl _ 3-3 

9 9 
1 = 0 
9 

Sacrifice Nil 

So, X Sacrifices -[th share in favour of Z. 
Journal Entry 

Dole Particulars 

Ts Capital A/c Dr. 
To Xs Capital A/c 

(Goodgmacwuatfdforonchaiige inprofttsbaruiR ratio) 

Gain 

Or. Cr. 

L.F. 

Working Note: 
^odwill = Z 36.000 
Ts Gain = i x 3^000 = ? 4.000 

9 
X-s Sscpliw = 1* 3^000 = 7 4,000 

Amounl 
7 
4,000 

Amou. ■nt 
7 

4,000 

-) 

. t 

Their Balance Sheefas on 31st Mafchrm^l'Trfoliows6 rat'0 ^3 ^'2- 

lAabilities 
Creditors 
Capital: 

P 
Q 
R 

7 
20,000 

• 15,000 
15.000 

6,000 

50,000 
56,000 

Assets 
Cash 
Debtors 
Stock 
Machinery 
Building _ 

7 , 
3,700' 
4,400 

12,000 , 
15.900 
20,000' 

56,000 

if ^ tu stock to be valued at 7 11,000. >' 
(ii) Machinery to be depreciated by 10%. . , ■». 
uu) Building to be appreciated by 20%. 

ass necessary Journal entries. / r * „ 
Solution W.AC,, 2014) 

Journal Entries Dr ^ - 
Date 
2017 

April, 1 

Poriicuicrs 

utvaluaiion A/c 
To Stock A/c 
To Machinery A/c 

(Being the decrease in the value of aciet.i 

Dr. 

LF. 

2,590 
1,000' 
1,590 

fo Revaluation A/c. 

tDcygi»PP«cifltiondie> 
^NationM^ 

To P's Capital A/c 
To Q's Capital A/c 
To R'a Capital A/c 

(Reinfl transfer of profit on revalii»c of partners mold p 

Idin? noi 7M 
Won ters 

4/)00 

fA 

; psW1 

Realisation trans- 

523.75 ta! (3/8) 
U'iCap: 
Jgs Capital <^) 

ital (3/8) 528.75 
352.50 

Revali 

1<410 

1.000 
W90 

1.410 
4,000 

problem 25, 

rAfc     _ 7 _ 
4/000 

4.000 

Liabilities 7   Assets 
Creditors 
Capital; 7 
<" P 60,000 
:'Q 60,000 
JR 30,000 
i V 

30,000 

1,50,000 

Cash . " 
Bank 
Debtors 
Stock 
Filed Assets 

3,300 
12,500 
25,200 
30,000 

t.09,000 
1,80.000 1 AO,000 

4 i , . ■'■S; Apni, ^017, they deade that profit-sharing ratio among them 
m rtnA^1 should be equal. The total capital of the firm is to remain at 

50,1! 00 Any deficiency in the capital of a partner is to be brought in rash snd any surplus in capital to be paid in cash. Pass Journal entries to record the 
^ (JAC., 20151 
Solution 

| Total Capital of the Finn - 7 1,50,000 
[ •'Copital Contribution by each Partner = 7 1,50,000x- = 7 50,000 

® Xur*"""1 

Ex, ;cKs Capital to be Withdrawn (B - A) 
Deficianev to be hrnught in (A - B) 

P(t) 
60,000 
flO.COO 
10,000 

9(7) 
60,000 
60.000 
10,000 

am 
50,000 
30.000 

20,WO 
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^ Joui^ljntnes, & 

Pnrtltuifl^ _ 
DoJf 

Iflsnk A/c 
To IVs Capitd A/c wtcllpi«l 

WuK! tt« smo^t brou?ht m ■   
I Aefioepql 
ps Capital A/c 
Q's Capital A/c 

^!!.BK^C
gpitel witMra^P^ 

UabUitu* 
Crtditor: 
Cajntal: 

V 
N ' 
K 

? 
1,50,000 
1,00,000 

50,000 

2,10,000 

3,00,000 
5,10,000 

Cash 
Stock 
Machinery 
Bailriing 

20,000 

10,000 
10,000 

Dr 

-1 J 

a.^V, N „d K '»lhe#l 
3 : 2 : 1 as on 31st March, 2015 is as follow5 -  ,,| 

Assets 

l,50,OCi| 
2.00,m' 
1.10,1X11 

.1A 
5,:o.iifr 

1: 2 Balance Sheet of E, S and T (« o. OlSlS) 
. iiflii/ittw 

c^tor3
hi,- 

Bills P^h'6 

U9,Be5erve 

Capiw'1 

B 
S 
T 

Amount Assets Amount 
7 

60,000 Land 
7 

50,000 
20,000 Building 50,000 
30,000 Plant 1,00,000 

, 7 Stock '40,000 
.1,00,000 Debtors 30,000 

50,000 Bank 5.000 
25.000 1,75,000 

2,75,000 2,75,000 

Partners decided that with effect from 1st April, 2015 they would shiis 
profits and losses in the ratio of 3 : 2 : 2. It was agree that: .-"f" 

(a) Stock to be valued at ? 1,30,000. 
ft) Machinery to be depreciated by 10%. 
ft) Building to be appreciated by 25%. ■'.•V,.'/ 
Pass necessary Journal entries, {JA.C., 20161 

Solution 1 

Journal Entries 
Date 

Dr. Cr. y't- 
Particulars 

RevrJuation A/c Dr. 
To Stock A/c 
To Machinery A/c 

(Being decrease in the valueof stock anddeprecisUon 
oamschinery) 

BuDding A/c 
To Revaluation A/c 

(Being appreciation in the value of building) 

Dr, 

Vs Capital Aft Dr. 
Ns Capital A/c Dr. 
K's Capital A/c Dr. 

To Revaluation A/c 
(Being toss oh revaluation trausferred to Partners' 

Capital A/cs in old proCd -aha ring ratio) 

L.F. 
40.000 

27,500 

6,250 
4.167 
2,083 

7 '' 

.Worija^ AVe; 
toss on Revaliialion At = ? 10,000 (Dr.) - 27^00 (Cr) = 7 12,500. 

20,006 
20,006 

.5' 
27,500 

12,500 

p S and T decided to share the profits equally with effect from 1.4.2015. 
• iftrthis it was agreed that: 

• (a) Goodwill of the firm be valued at 7 1,50,000. 
' (b) Land be revalued at 7 80,000 and building be depredated by 6%. 
f: (e) Creditors of7 6,000 were not liiely to be daimed and hence be written 

Prenare Revaluation Account, Partners' Capital Accounts and Balance 
aeeUf the reconstituted firm. V.B.S.E. A/„ 2016) 
Solution , j. . Cr. 
ur.  . 

>. Particulars 7 Purftculan . 7 

i To Building A/c 
'■ To Profit transferred to 

3,000 By Land A/c 
By Creditors A/c 

30,000 
6,000 

;; Capital A/cs; 
r r 

7 
5,500 • 

1! s 11,000 
T : 16,500 33,000 36.000 

. 36,000 

Partners' Capital Accounts 

Particulars 

To Ts Capital 
A/c 

To Balance 
c/d 

7 

25,000 

85,500 71,000 81,600 

ParticuAin Jf S T 

7 7 7 

By Balance 
Vd 1,00,000 50,000 26,000 

By Revalu- 
ation A/c 
(Profit) 5.500 11,000 16,500 

By General 
Reserve 
A/c 5,000 10,000 16,000 
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• 

1,10.500 71,000 81,500 

By R's Capi- 
tal A/c 

1,10,500 71,000 

Balance Sheet of the Reconstituted Firm 

25,000; 

jiLsoo: 

Liabilities 

Creditors 

Less : Unclaimed 

, ^ Creditors 

Bills Payable Capital 

" R 

S 

T 

50,000 

6,000 

85,500 

71,000 

81,500 

44,000 

20,000 

Assets 

2,38,000 

Land 

Building 50,000 

Less : Depreciation 3,000 

Plant 

Stock 

Debtors 

Bank 

3,02,000 

X 

80,000 

47,000'. 

1,00,oca- 

40,000' 

30,000 

5,000, 

3,02,000, 

Working Notes: . , . ■ .... 

1. Calculation of Sacrifice or Gain '■ > • ■ 

R = 7 - ^ 7 (Gate): S = || = (Nil): T = | - 1 = 1 (Sacrifice). 636 63 6. 36 

Share of Goodwill credited to T = ^ 1,50,000 x - 
6 

= ? 25,000 

2. Since R gains and T eacrifices, R will Compensate T. 

ITs Capital A/c Dr. ■ 25.000 . 

To T's Capital A/c 25,000 
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